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Question 1

Which year is considered by Toynbee as the beginning year of European Industrial Revolution?
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Question 2

In which European country the Industrial Revolution first took place?
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Question 3

Which economist described the transition of Britain from ‘take off’ to ‘self-sustained growth’?
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Question 4

Which of the two industries contributed most in the Industrial Revolution of Britain?
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Question 5

In what way the ‘Enclosure movement’ influenced the Industrial Revolution in Britain®?
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Question 6

Flying Shuttle, Carding machine, Spinning Jenny, Water frame are the machines used in
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Question 7

Who invented the machine ‘Waterframe’?
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Question 8

What the ‘Industrial Revolution’ stands for as an index?
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Question 9

At the time of Industrial Revolution which industry had a great influence on the entire British economy through ‘Backward linkage’ and ‘Forward linkage’?
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Question 10

Name the Central Bank of Britain.
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Question 11

In 1651 the ‘Navigation Act’ was introduced by Britain to destroy the supremacy in international trade of a particular country. Name the country.
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Question 12

What do you mean by Laissez-faire?
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Question 13

What is the meaning of the title ‘Shogun’ in the 16th century Japan?
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Question 14

What is the previous name of Tokyo, the capital of Japan?

TUATNG G (1P ST W I F e 2

Question 15

In which year the Meiji rule was restored in Japan?
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Question 16

In 1854, the closed economy Japan had opened up two harbours for American trade after she entered into an agreement with America at the initiative of an
American. Name him.
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Question 17

Under Tokugawa rule, the ‘Military Administrators’ were called
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Question 18

In view of the ‘Communism’ in China, what is meant by ‘Communes’?
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Question 19
The duty of the environmentisto ............... the waste produced as a by-product of the economic activity of production.
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Question 20

In the case of renewable wealth, suppose the rate of planting of a particular type of tree is greater than the rate of felling of such trees, then the result will be
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Question 21

Which one of the following is exhaustible wealth?
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Question 22

If the pollution level is to be confined within a certain limit, the least costly method is
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Question 23

174 countries decided to bring down the carbon dioxide emission to 1990 level within 2000 at the Earth Summit held in
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Question 24

To stop ‘Acid rain’, it is necessary to reduce production of
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Question 25

The export will be controlled by the Govt. if
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Question 26

In which of the following situations an international understanding in respect of pollution control is possible?
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Question 27



Which gas is responsible for the depletion of ‘Ozone layer’?
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Question 28

Which gas is termed as ‘Greenhouse gas’?
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Question 29

The root cause of ‘Acid Rain’ is

TG I8 T FRVF 2

Question 30

When the average sea level will rise and all the low lands of Earth will be flooded and the islands will be inundated?
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Question 31

Which economist prepared the index for industrial production of Britain and observed that in 1780 the annual rate of industrialisation exceeded 2%?
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Question 32

According to W.W. Rostow, in which time span the foundation stone of modern society in Britain was laid down?
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Question 33

Why industrial revolution did not take place in France?
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Question 34

During which century the proletariat class emerged in England?
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Question 35

Which industry was the pioneer in the industrial revolution of Britain?
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Question 36

Who invented the steam engine, the nerve centre of British industrial revolution?
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Question 37

What was the advantage of Britain for which she became the pioneer in industrial revolution among the European countries?
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Question 38

Who invented “spinning jenny” for British cotton textile industry?
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Question 39

Which instrument was the combined form of “spinning jenny” and “water frame”, that was invented and used in British cotton textile industry?
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Question 40

In 1828, there was an invention to reduce the cost of fuel in the production process of British iron industry. As a result, the price of British iron became the
lowest in the world. Who was the inventor?
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Question 41

During British industrial revolution, the construction of railways increased the “social savings”. What do you mean by “social savings”?
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Question 42

The “Enclosure movement” got accelerated during the industrial revolution in Britain. What do you mean by “Enclosure movement”?
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Question 43

During the British industrial revolution why the capital/output ratio decreased?
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Question 44

In order to widen the scope of international trade, Britain followed an aggressive trade policy. Name the first official enactment in 1651 in this regard.
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Question 45

Under the Tokugawa rule in Japan, what was the name of the local ruler of feudal aristocrats?
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Question 46

Under the Tokugawa rule in Japan, what was the name of the National Govt.?
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Question 47



Under the Meiji rule in Japan, Zaibatsu was the non-Govt. association formed by a few business tycoons. Who was the first and most powerful business
tycoon in Zaibatsu?
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Question 48

What was “Yasuda” under the Meiji rule in Japan?
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Question 49

What is the other name of Nurkse-Eckaus strategy which was adopted in the economic development of the Chinese economy?
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Question 50

When Globalisation as an economic reform started in China?
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Question 51

The amount of pollution created by the economic activity depends on which of the following?
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Question 52

Which one of the following is renewable wealth?
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Question 53

Which one of the following is non-exhaustible wealth?
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Question 54

What is the equilibrium condition for extraction of exhaustible natural wealth in a perfectly competitive market?
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Question 55

Which one of the following is considered as a world wide pollution?
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Question 56

Which pollutant develops high concentration in atmosphere once it is exposed ?
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Question 57



In a perfectly competitive market, to determine the desirable amount of production of a polluting product or, to determine the desirable amount of the pollution

which equilibrium condition is followed?
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Question 58

Environmental goods which have use value but their markets are non-existent, eg., Forest Safari; in order to find out the demand curve for such goods which
theory of the following is used?
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Question 59

Those poor countries who have been able to come out of the vicious cycle of poverty, the “Environmental Kuznets Curve” for them showing the relationship
between the rate of increase in per capita income and the rate of qualitative improvement in environment over time, will be represented by which one of the

following curve?
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Question 60

Scientists have observed through research that if the amount of carbon dioxide concentration becomes double in the atmosphere, the average temperature of
the earth rises. Which one of the following temperature rise will be most likely?
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